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QUESTION 1

Your customer has US and Germany orders.

How would you setup a User role with read/write access for US orders, and only read access for German orders?
A. Assign multiple User Roles while creating User.

B. Access can be controlled via VPD profile along with external Predicates.

C. Access can be controlled via Access Control List and assign to User Role.

D. Assign multiple User Role grants in User Role.

Correct Answer: A

QUESTION 2

Identify the incorrect option pertaining to TiHi.

A. This configuration captures the number of layers of boxes/cartons that can be stacked on the pallet.
B. This is configured in Item Setup.

C. This configuration captures the number of boxes/cartons stored on a layer.

D. This configuration will impact mixed pallet functionality.

Correct Answer: A

QUESTION 3

Shipment# 10059 is a Multi-Stop shipment with two orders. Both orders are picked up in New York City. One of the
orders is dropped off in Philadelphia, Pennsylvania, and the other order dropped off in Baltimore, Maryland. There is
empty capacity on this shipment for you to add another order (# 1234), which is picking up in Philadelphia and dropping
off in Baltimore. The status of Shipment# 10059 is "SECURE RESOURCES: NOT_STARTED"

Which shipment planning option should you use to ensure that order release# 1234 is assigned to Shipment# 10059?
A. Move Order to Existing Shipment

B. Bulk Plan

C. Manual

D. Show Routing Options

Correct Answer: D
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QUESTION 4
Which two statements about shipment statuses are true? (Choose two.)

A. ENROUTE_DELAYED - indicates that the shipment was unable to travel on the planned route, and has taken a
detour.

B. ENROUTE_NOT STARTED - indicates that the shipment has not been picked up from the initial pickup stop yet.
C. ENROUTE_ENROUTE - indicates that the shipment is moving from one location to another.

D. ENROUTE_UNLOADED PARTIAL - indicates that the shipment has reached the final destination and is in the
process of being unloaded.

E. ENROUTE_DIVERTED - indicates that the shipment was delayed in leaving the previous location due to the late
pickup time, and will be late arriving to the destination location.

Correct Answer: BC

QUESTION 5

Which three statements are true when setting up Match Rules for Freight Payment in OTM? (Choose three.)

A. You need to specify at least one shipment reference number qualifier to match to.

B. The match rule will apply to all invoices, unless only certain service providers are specified on the match rule.
C. The matching rule could be different for different service providers.

D. You could specify several shipment reference values to match to.

E. BM or Bill Of Lading is a mandatory shipment reference number qualifier to match to.

Correct Answer: ACE

QUESTION 6

When creating a new Declaration type in Global Trade Management (GTM), which three processes may need to be
configured depending on the requirements of the local customs authority? (Choose three.)

A. Set up a License Code that defines whether a license is incremented or decremented for the Trade Transaction.
B. Set up a data configuration that defines the data required to be copied from the Transaction onto the Declaration.
C. Define a constraint set with grouping criteria that identifies how to combine Trade Transactions into a Declaration.
D. Create aggregation criteria that consolidate Transaction Lines, based on parameters such as tariff

code or country of origin, into fewer lines on the final Declaration.

Correct Answer: ABD
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QUESTION 7

Which one of the following is the correct procedure for setting up and assigning a Screen Set ID to a User?
A. Create a Screen Set ID and assign it to Domain.

B. Always unassign existing menu and create a screen Set ID, assign it to User.

C. Create a Screen set ID, assign it to Menu Manager and assign it to User.

D. Create a Screen Set ID and assign it to User.

Correct Answer: C

QUESTION 8

Select the two true statements about OTM Agents. (Choose two.)

A. Agents can send alerts when a condition has occurred, and they can also create or change data objects.
B. Agents can be configured to run multiple times on a time-based schedule.

C. Agents can send alerts when a condition has occurred, but they cannot create or change data objects.
D. Agents "listen” for a condition to occur.

Correct Answer: BC

QUESTION 9
In the process of "Adjust shipment cost scenario," you select "reversing and adjusting” Shipment cost.
What will be performed by OTM?

A. The system creates a new cost that negates the original cost. Then it creates another new cost with the new cost
value.

B. The system reverses a cost by creating a new cost with a negative amount that matches the amount of the original
cost.

C. The system gives the user an option to update the amount.
D. The system takes the original cost and adds or subtracts an amount to it to create the new cost.

Correct Answer: B

QUESTION 10

Which two statements are true with respect to userlD and domain relationship, during a standard OTM installation?
(Choose two.)
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A. The GUEST userlD is created in the SERVPROV domain.
B. The ADMIN userlD is created in the DBA domain.

C. The GUEST userlD is created in the PUBLIC domain.

D. The ADMIN userID is created in the GUEST domain.

E. The DEFAULT userID is created in the ADMIN domain.

Correct Answer: BE
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